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In 1 and 2, complete the proofs.

1. Given: YX = WX
ZX bisects /YXW

Prove: YZ=W2Z

Statement

YX=WX

. ZX bisects /YXW

. (YXZZE/WXZ

. XZ=XZ

. AYXZ=ZAWXZ

YZ=WZ
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2. Given: @':" A B
AB =
Prove: AD || B
Statement Reason
. AD = BC o C
. AB=DC
. AC = AC
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. /DAC = (BCA
. AD | BC
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3. Given: (M= [N 4. Given: D is the midpoint of AF
LOKL=/0OLK D is the midpoint of EC

Prove: MOZ=NO Prove: AC=F
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5. Given: D is the midpoint of AF
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Is there enough information to prove AC = EF ? If so, write a proof.
If not, what additional information is necessary to prove AC = EF?
Explain your reasoning.




